T A o
m H ARIT A il 1
FEH w=15cm 66,240 34,610 41,520
4R w=15cm 8,920 1,310 573
Y77 w=15cm - - 10
Y77 w=45cm 75 18 182
JF 3L 505 w=15cm 5,040 1,140 800
W7 (J)—) 853 - -
a7 — g (D) 5 - -

e~
A

ZENG =
RBFHEE




i U O S ¢ N
v Feh TR v77 S P
W=15cm W=15cm W=15cm W=45cm | W=15cm#aiE
AL 23 e AL 53 B 2, 548 400 378 3, 326
W SFsE AR 1, 180 27 162 1, 369
IR Z AR 1, 860 483 162 2, 505
ENTRES T IREY 380 345 281 1, 006
UNES VTR 1,770 198 254 2,222
A H TR 1,936 94 2, 030
BT TR 2, 520 630 186 3, 336
R\ KHR 1, 504 165 1, 669
RO 1, 440 360 12 1,812
ROF2E#5 1, 400 350 6 1, 756
AROP3 5% 174 174
NCPYVS S 2, 960 740 148 3, 848
ANCER:E R 6, 184 315 6, 499
ESER s I RER 7 7, 660 325 421 8, 406
Al e FE R 3, 000 3, 000
6T FE ISR R 4,110 63 575 4,748
AR AT R A= B A 3, 440 710 75 171 5 554
TS 1SR 1,034 15 139
G S 12,710 3,178 1,334 21 38
12 B B0 3,194 799 169
Rl TN 5, 240 300 66 5, 606
0
0
0
0
0
0
0
0
0
0
0
0
0
0
& F 66, 244 8, 923 0 75 5,038 80, 280
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240

245

LSRR 2 AR

H FEERR 1R

195
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IR S521E

A TR

BT e TR

A URHR

AROGRT 5%

R DGR2 5%

R DGR3 5

UNOE VS S

AN RN

VLTI R AR S W

b S AR FH R

=3 E=NE=1E=1E=NE=R k=1 k= k=R =l =

AR FE R R R TR

378

378
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40

40
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HARECE R R E ORT)

z4 P G A =X % B
P 2)S B Fie A4 AL 53 S
FHE W=15cm
PAN T 1274 X2 = 2548.0
2548.0 | 2548 m
filE#t W=15c m
T H—T A 800X 50% = 400.0
400. 0 400 m
FKEN - S0 - Fi B W=15c mi#fa%
T5~—7 6.0X8 = 48.0
W 88. 6 =  88.6
JED (EE - Z29T) 9.2X3 = 27.6
KHEI () 6.7X3 = 20.1
(EAIN TS e 27.0X2 = 54.0
RO AT 1.4X100 = 140.0
378.3 378 m




AR EE AT

4 R &t H = g =
WA
EH W=15cm
AMAHR 590 X 2 = 1180.
1180. 1180 m
fl# W=15¢c m
il 1.0X27 = 27.
27. 27 m
KE] « 05 - 505 W=15c m¥ak
JaAw—Y 8.0X4 = 32.
T5~—7 6.0X6 = 36.
EIER TS 35. 1 = 35.
T 1.4X42 = 58.
161. 162 m
TS T — s
7Y — 2~k (RPN-501) 400X 0. 3 X2 = 240.
~ %7 (RPN-503) 5.0 = 5.
245. 245 m




AR EE (AT

4 giiN E H 2 e B
AR AR
EH W=15cm
AMAHR 930X 2 = 1860.
1860. 1860 m
fl# W=15¢c m
v =5 930 X 50% = 465,
R 1.0X18 = 18.
483, 483 m
FF) e F - F25 W=15c m¥#a%
T%~—7 6.0X15 = 90.
EIER TS 44, 1 = 44,
T 1.4%20 = 28.
162. 162 m




AR EE (AT

4 R &t H = g =
H ipfR1 SR
EH W=15cm
AMAHR 380 = 380.
380. 380 m
fl# W=15¢c m
N e BV 690 X 50% = 345,
345. 345 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X13 = 78.
Bh—THE 101. 4 X2 = 202.
280. 281 m
g T —ElE
7 — 2~ (RPN-501) 390X0.5 = 195.
195. 195 m




AR R ORT)

4 ZiiN B A = Eg =
DARTE21E #R
FHE W=15¢cm
FMAHR 70 = 70. 0
AMA#R 850X 2 = 1700.0
1770.0 | 1770 m
k# W=15¢c m
v E—F 360 X 50% = 180.0
il 1.0X18 = 18.0
198.0 198 m
RF e S0 - 525 W=15c m¥E
JaAI—7 8.0X5 = 40.0
T5~—7 6.0X19 =  114.0
ZEIER TS 44. 1 = 44.1
TRl 1. 4X 40 = 56. 0
254. 1 254  m




PR R A ORT)

4 I &t = F2V =
A TR
FEHE W=15cm
FMAHR 968 X 2 = 1936.0
1936.0 | 1936 m
KEN « 30F - 505 W=15c maM
T~ —7 6.0X5 = 30.0
HREN (EE - 28T 9.2X4 = 36. 8
FNEINVSED) 6.7X4 = 26. 8
93. 6 94 m




PR R A ORT)

% P 3t 1 E20 ¥ &
T TR
FH W=15cm
SMAIHR 630X 4 = 2520.0
2520.0 | 2520 m
%t W=15c m
T H—TA (630X2) X50% = 630.0
630. 0 630 m
JFD - 3CF - Fi B W=15c m#afE
KHV (EAE - Z297) 9.2X%8 = 73.6
RED (ELEE) 6.3 X5 = 315
PNEINCEE/) 6.7X10 = 67.0
RKED (FEH7) 6.7X2 = 13.4
185.5 186 m

10




PR R A ORT)

4 ZiiN B A 2 Eg =
b KRR
FHE W=15¢cm
FMAHR 752X 2 = 1504.0
1504.0 | 1504 m
SF e 0 - 525 W=15c m# &
T~ —7 6.0X2 = 12.0
A 7S FEE 110.5 =  110.5
N5 L se 1.4X30 = 42.0
164.5 165 m

11




PR R A ORT)

% P Ft ) =X H &
KO
FHE W=15cm
SMAHR 720X 2 = 1440.0
1440.0 | 1440 m
fRE W=15¢c m
=T 720X 50% = 360.0
360. 0 360 m
RFN « 05 - 508 W=15c m#a%
TF~—7 6.0X2 = 12.0
12.0 12 m

12




PR R A ORT)

% P &t ) =X ¥ =
KOB25#
FEHE W=15cm
SMAHR 700X 2 = 1400.0
1400.0 | 1400 m
il#E W=15cm
T H—TA 700 X 50% = 350.0
350. 0 350 m
JHY -« 37 - Fi W=15c m#aE
T5~—7 6.0 = 6.0
6.0 6 m
PNRY i REES
FEH W=15cm
SMElHR 87X 2 = 174.0
174.0 174 m

13




AR EE (AT

4 giiN E H = g =
UNIEYSS
EH W=15cm
AMAHR 1480 X 2 = 2960. 0
2060.0 | 2960 m
fl# W=15¢c m
N e BV 1480 X 50% = 740.0
740. 0 740 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X 10 = 60. 0
EILRT S 44, 1X2 88. 2
148. 2 148 m

14




HARECE R R E ORT)

4 R i H = g =
ANGETEUE
EH W=15cm
AMAHR 3092 X 2 = 6184.0
6184.0 | 6184 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X7 = 42.0
EILRT S 35.1X2 70. 2
ah—TEE 101.4X2 202. 8
315.0 315 m

15




HARECE R R E ORT)

4 R &t H = g =

[ESTER st NS T )
EH W=15cm
AMAHR 3830 %2 = 7660. 0

7660.0 | 7660 m
fl# W=15¢c m
v E—F 650 X 50% =  325.0

325.0 325 m
RKE] « 05 - 505 W=15c m¥#a
JaAw—7 8.0X4 = 32.0
T%~—7 6.0X5 = 30.0
ah—TEE 101.4X2 = 202.8
A & 88. 6 = 88. 6
TRl 1.4X48 = 67. 2

420. 6 421 m

16




HARECE R R E ORT)

4 giiN E H = g B
Tl AR R
EH W=15cm
AMAHR 1500 X 2 = 3000. 0
3000.0 | 3000 m

17




AR EE AT

4 R it H = g 7
A6 PR B B
EH W=15cm
AR (1770+180+75+30) X 2 = 4110.0
4110.0 | 4110 m
fl# W=15¢c m
v E—T A 5.0X4 = 20.0
R 1.0X43 = 43. 0
63.0 63 m
JHl s CF - B W=15c m#at
JgnaA<—7 8.0X8 = 64.0
T~ —7 6.0X7 = 42.0
RN HER L 172.3X2 = 344.6
REWT & 2R 124. 1 = 124.1
574.7 57 m
g 7 —Elik
7)) — 2 ~L bk (RPN-501) 1260X0. 3 = 378.0
378.0 378 m

18




AR EE AT

4 P 3t B = ¥ =
AN JBR A= B A
FEHR W=15cm
SMAlHR 1720 X 2 = 3440.0
3440.0 | 3440 m
il W=15cm
o E—TF( (1130+230) X 50% = 680.0
T 1.0X30 30.0
710.0 710 m
¥7'F  W=45cm
BT IH 1. 5X50 = 75.0
75.0 75 m
FRHL 307 - G5 W=15c m#a%
JRaA—7J 8.0 = 8.0
TF~—7 6.0X5 = 30.0
WP LA 88. 6 =  88.6
15 BT 2 44. 1 = 44.1
170.7 171 m
083118 JAHEL1 S
EHE W=15cm
SMAHR 517X 2 = 1034.0
1034.0 | 1034 m
il W=15cm
A =T 5.0X3 = 15.0
15.0 15 m
KFN - XF - 528 W=15c m#a%
T5~—7 6.0 = 6.0
HWET L 88. 6 = 88.6
15 IR T2 44. 1 = 44.1
138.7 139 m

19




AR EE (AT

4 R &t H = g =
HH FET HEAG iR
EH W=15cm
AMAHR 6355 % 2 = 12710.0
12710.0 | 12710 m
fl# W=15¢c m
N e BV 6355 X 50% = 3177.5
3177.5 | 3178 m
KE] « 05 - 505 W=15c m¥#a
T~ —2 6. 0X52 =  312.0
AW & 88.6X2 = 177.2
AEFE IR 121.5X2 = 243.0
T 1. 4430 = 602.0
1334.2 | 1334 m

20




HARECE R R E ORT)

4 R & H = g =
5 H R
EH W=15cm
AMAHR 1597 X 2 = 3194.
3194. 3194 m
fl# W=15¢c m
N e BV 1597 X 50% = 798.
798. 799 m
RKE] « 05 - 505 W=15c m¥#a
T%~—7 6.0X6 = 36.
AW & 88. 6 = 88.
EIER TS 44, 1 = 44,
168. 169 m

21




HARECE R R E ORT)

4 R it H = g &
(RIS Y N )
EH W=15cm
AMAHR 2620 X 2 = 5240.0
5240.0 | 5240 m
fl# W=15¢c m
N el 600 X 50% = 300.0
300. 0 300 m
RKE] « 05 - 505 W=15c m¥#a
JaA<w—7 8.0X2 = 16. 0
T%~—7 6.0X5 = 30.0
HC 20.0 = 20.0
66.0 66 m
g 7 —Elik
7Y — > ~L |k (RPN-501) 40 = 40. 0
40. 0 40 m

22




oM B o &R dEE)
v Feh TR 77 ST a3
W=15cm W=15cm W=15cm W=45cm | W=15cm#aiE

ANE 35820 5, 040 271 5,311
IINBFIT N ESR 4, 305 7 192 4, 504
KT R 2,010 60 2,070
FRA B 4, 960 10 11 4, 981
N 1, 840 1, 840
MEBLRT) I ALAR 1, 750 320 72 2,142
f B BT R 1, 750 12 1, 762
B I AAE 158 1, 890 174 2, 064
B HE B AN E 2 5 1, 960 164 2,124
H T TR AR IE 2,900 102 3, 002
H) 1R AESF#R 1, 650 42 1, 692
RAEFH15#R 650 12 662
FRATE 2 ) 3,900 975 42 4,917
0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

& F 34, 605 1, 305 0 18 1, 143 37,071

23
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=3 E=NE=HE=HE=NE=N k=l k=l =N =R k=l k=2 k=]




PR TR A (L)

4 L Ft B E2V H 2
INEER AR
FEH W=15cm
SMAHR 2520 X 2 = 5040.0
5040.0 | 5040 m
FRF - 305 - 528 W=15c m#a%
NI 20. 0 = 20.0
H—T7EE 72.1X2 = 144.2
B BLs 1.4X76 = 106.4
270. 6 271 m

25




PR R R (AEED)

% PR

at "

%

J=ER
IINEPIT/INEERR
FEH W=15cm
FMAHR 750X 2 = 1500.0
185 = 185.0
350 X 2 = 700.0
960 X 2 = 1920.0
4305.0 | 4305 m
Y7 W=45cm
AT NG 0.6x11 = 6.6
6.6 7 m
KE - 05 - Fi95 W=15c m#E
ENE) 5.0X2 = 10.0
T5~—7 6.0X7 = 42.0
PRl 1. 4% 100 = 140.0
192. 0 192 m

26




PR R R (AEED)

% PR At B 2y *» =

KT R

FEH W=15cm
FMAHR 1005 X 2 = 2010.0
2010.0 | 2010 m

K« 5 - §i5 W=15c m#E
T~ —7 6.0X10 = 60. 0
60.0 60 m

27




PR R R (AEED)

% PR

at "

%

J=ER
FRANEF AR
FEH W=15cm
FMAHR 2480 X 2 = 4960. 0
4960.0 | 4960 m
l# W=15¢c m
i BhAR 1.0X10 10.0
10.0 10 m
Y7 W=45cm
v7r5 - 0.6X18 = 10. 8
10. 8 11 m

28




PR R R (AEED)

4 N &t 1 =Y e =
J\ HH B AT
FEH W=15cm
FMAHR 920X 2 = 1840.0
1840.0 | 1840 m

29




PR R R (AEED)

% PR At B 2y *» =

MESLRI) | LR

FEH W=15cm
FMAHR 875X 2 = 1750.0
1750.0 | 1750 m

i W=15¢c m
v E—F4 320 = 320.0
320. 0 320 m

ZH - 5 - 325 W=15c m¥#aE
T%~—7 6.0X12 = 72.0
72.0 72 m

30




PR R R (AEED)

% PR At B 2y *» =

b By B TR

FEH W=15cm
FMAHR 875X 2 = 1750.0
1750.0 | 1750 m

K« 5 - §i5 W=15c m#E
T~ —7 6.0X2 = 12.0
12.0 12 m

31




PR R R (AEED)

4 N &t 1 =Y e =
BT R ANE 15
FEH W=15cm
FMAHR 945X 2 = 1890.0
1890.0 | 1890 m
KEN « CF - 5 W=15c m#akH
JaA~w—Y 8.0X2 = 16.0
T~ —7 6.0X4 = 24.0
Jeli e 1.4X96 = 134.4
174. 4 174 m
BT SR AN 25
FE W=15cm
FMHHR 980 X 2 = 1960. 0
1960.0 | 1960 m
KHI » 307 - Fi W=15c m#fakE
JnaA~w—Y 8.0X3 = 24. 0
T5~—7 6 = 6.0
PRl 1.4X96 = 134.4
164. 4 164 m

32




PR R R (AEED)

% PR At B 2y *» =

T A E HR

FEH W=15cm
FMAHR 1450 X 2 = 2900. 0
2900.0 | 2900 m

K« 5 - §i5 W=15c m#E
T~ —7 6.0X17 = 102.0
102. 0 102 m

33




PR R R (AEED)

%

4 N &t =1 =Y &=
W R AE 5%
FEH W=15cm
FMAHR 825X 2 = 1650.0
1650.0 | 1650 m
KEN « CF - 5 W=15c m#akH
T~ —7 6.0X7 = 42.0
42. 0 42  m

34




PR R R (AEED)

£ N &t =1 = g =
KAEFH 1B
FEH W=15cm
FMAHR 325X 2 = 650.0
650. 0 650 m
KEN - XF - 85 W=15c m#aH
T~ —7 6.0X2 = 12.0
12.0 12 m

35




PR R R (AEED)

%

4 g Ft B 2V =
FRAE 2 )17
R W=15cm
SMAHR 1950 X 2 = 3900.0
3900.0 | 3900 m
it W=15cm
U A—T A 975 = 975.0
975. 0 975 m
KE - 5 - Fi95 W=15c m# &
TFE~—7 6.0X7 = 42.0
42.0 42 m

36




e S| S 1R S (1R
B w4 Feh TR Y77 S A s
W=15cm W=15cm W=15cm W=45cm | W=15cm#aiE

o5 b, Fr sfi 4, 658 10 35 141 4, 844
P A 80 80
PAPANLA Lo 558 95 653
A R 433 43 70 546
il LI 133 133
A
BRI NER 2, 854 50 2,007
PRTES AR
ARG 1L 3, 851 50 10 65 3,976
VR T I [EE AR 3,083 44 42 3, 169
B 2 0 E AT IH E A 2,113 6 42 2,161
4 H R EE R 278 8 286
51 1 [EE2 55 363 6 369
SR H 5| 1H EE 575 18 593
EESPS 164 14 6 184
T EEET F [EE AR 803 6 18 827
Izt

142 15 157
INENEES
T ) B

1,978 3 26 2, 007
WIMEHR
AR 380 6 386
[ ERE=s 617 150 767
+ A AT ER 1,253 43 36 1,332
FUS 3, 152 10 84 3, 246
2 WA 1, 146 125 28 1,299
T HG A 2, 388 15 51 44 2, 498
CEET- IR EERR 1,954 18 1,972
TNz 1H ELE 2 5-#R 306 306
TNz 1H ELE 1 5-#R 1,039 3 8 12 1, 062
KAA#R 950 14 18 982
SR I [EE R 1,717 18 1,735
H Hi#k 3, 443 32 3, 475
5 U8 3 AR 542 6 548
%7 1 EE 568 15 6 589

& R 41, 521 573 10 182 800 43, 086

37




S

#ro Bl

G

(7

N
RYA

H

5)

BB A

wiJE N 7 — A

NN T

7=

55 R R

AR AR

HRTAIRBR

A R

Rl LR

A SRR

TN AR

A A

ARG LR

T HEE R

By 2 ' /i IH EE R

A B EE R

FE 5 | 1H D E

F 5 1H EDE2 543

SEHFH 5] IH EDER

1 2 5
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PR R TR (D)

% i i B 2V %

il

B . T SRR

FHE W=15cm

FMAHR 2310 X2 = 4,620.0
Y7o — 15. 9+15. 4+46. 7 = 38.0

4,658.0] 4,658 m

k# W=15¢c m
TR 1.0X5+1.0X5 = 10.0
10.0 10 m

Y77 W=45cm
¥7I7— 34.9 = 34.9

34.9 35 m

KE -« 05 - 505 W=15c m#ak

TF~—7 6. 0X20 = 120.0
JaARv—7 8.0 = 8.0
UNEL 6. 25X 2 = 12.5
140. 5 141 m

39




AR E (WD)

4 i) &t B = B &
PIEEE AR
E#E W=15cm
ARAHR 40X 2 = 80. 0
80. 0 80 m

40




AR E (WD)

%

4 giiN B H B
BRI
EH W=15cm
AMAlHR 249X 2 = 498.0
oA — 30+30 = 60. 0
558. 0 558 m
AR W=15¢cm
v B—F A 5.0X19 = 95. 0
95. 0 95 m

41




AR E (WD)

4 giiN B H 2V B oy
AR
EH W=15cm
AMAlHR 188.5X2 = 377.
o x— 30+26 = 56.
433, 433 m
AR W=15¢cm
R 2.0X5+1.0X3+5.0X6 = 43.
43. 43 m
JRHl CF - 3B W=15c m#at
T%~—7 6.0X2 = 12.
H—TEE 29.0X2 = 58.
70. 70 m

42




AR E (WD)

4 giiN E H = g B
FiE L1
EH W=15cm
AMAHR 66.5X2 = 133.0
133.0 133 m

43




AR E (WD)

4 R it H = g 7
A R R
EH W=15cm
AR 1427 X 2 = 2,854.0
2,854.0l 2,854 m
KE « 05 - 505 W=15c m#a
T5~—7 6.0X7 = 42.0
JuaAT—7 8.0 = 8.0
50. 0 50 m

44




AR E (WD)

4 R it H = g &
ARSI AR S LR
EH W=15cm
SRR 1925.5X 2 = 3,851.0
3,851.0| 3,851 m
fl# W=15¢c m
il 5.0X6+2. 0X 10 = 50. 0
50.0 50 m
Y77 W=15cm
Y77 1.642. 6+3. 4+2. 7 = 10. 3
10. 3 10 m
K« CF - 5o W=15c m¥fats
T~ —7 6.0X6 = 36.0
H—TEE 29 = 29.0
65.0 65 m

45




AR E (WD)

& it 5 £ o B
THEEF IR [EERR
EH W=15cm
AR 1535 X2 = 3,070.0
v H— 13 = 13.0
3,083.0| 3,083 m
AR W=15¢cm
il 5.0X6+1.2X12 = 44, 4
44. 4 44 m
REL « 7 - G W=15c mffa%E
T%~—7 6.0X7 = 42.0
42.0 42 m

46




AR E (WD)

4 R it H = g 7
B 2 B BT H E E R
EH W=15cm
AMAHR 1056. 5 X2 = 2,113.0
2,113.0l 2,113 m
Y7 W=45cm
Y77 1.6+1.3X3 = 5.5
5.5 6 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X7 = 42.0
42.0 42 m

47




A AR (TUED)

4 R &t H = g =
A I EE R
EH W=15cm
AMAHR 125.5X2 = 251.0
o H— 27 = 27.0
278. 0 278 m
SF e S - 525 W=15c m¥E
JuaAT—7 8.0 = 8.0
8.0 8 m

48




AR E (WD)

4 R &t H = g =
5| IHEE2 5 #R
EH W=15cm
AMAHR 174.5%X2 = 349.0
o H— 14 = 14.0
363. 0 363 m
SF e S - 525 W=15c m¥E
T%~—7 6.0 = 6.0
6.0 6 m

49




AR E (WD)

4 R it H = g 7
SEET 5| 10 [EE R
EH W=15cm
AMAHR 287.5X2 =  575.0
575.0 575 m
) e CF - FB5 W=15c m#E
T~ —7 6.0X3 = 18.0
18.0 18 m

50




AR E (WD)

4 giiN E H 2 e B
85 4 f5
EH W=15cm
AMAHR 68X 2 = 136.0
o x— 28 = 28.0
164. 0 164 m
AR W=15¢cm
il 5.0X2+1.0X4 = 14.0
14.0 14 m
REL « 7 - G W=15c mffa%E
T%~—7 6.0 = 6.0
6.0 6 m

51




AR E (WD)

giiN E H = g =
TEEEF A [ELERR
EH W=15cm
AMAHR 401.5X2 = 803.0
803. 0 803 m
fl# W=15¢c m
il 1.0X6 = 6.0
6.0 6 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X3 = 18.0
18.0 18 m

52




AR E (WD)

4 giiN E H 2 e B
NS S RNINEY B=S
EH W=15cm
AMAHR 59X 2 =  118.0
o x— 24 = 24.0
142.0 142 m
AR W=15¢cm
il 1.0X5+1.0X10 = 15.0
15.0 15 m

53




AR E (WD)

4 R H = g =
P ) SE BT AR - B
EH W=15cm
AMAHR 989 X 2 = 1,978.0
1,978.0| 1,978 m
fl# W=15¢c m
il 1.0X3 = 3.0
3.0 3 m
RKE] « 05 - 505 W=15c m¥#a
T5~—7 6.0X3 = 18.0
JuaRAv—7 8.0 = 8.0
26. 0 26 m

54




AR E (WD)

4 giiN E H 2 e B
EENE
EH W=15cm
AMAHR 190 X 2 = 380.0
380. 0 380 m
KE « 05 - 505 W=15c m#a
T5~—7 6.0 = 6.0
6.0 6 m

55




AR E (WD)

4 giiN E H 2 e B
[iFgee BBz
EH W=15cm
AMAHR 295.5X%X2 = 591.0
o x— 26 = 26.0
617.0 617 m
AR W=15¢cm
il 5 X 28+1 X 6+1 X 4 = 150.0
150. 0 150 m

56




AR E (WD)

4 giiN E H 2 e B
+ A TR
EH W=15cm
AMAHR 614X 2 = 1,228.0
77— 25 = 25.0
1,253.0] 1,253 m
Y75 W=45cm
77— 4+4+3, 5+3+3+9+6+5+3+2 = 42.5
42.5 43 m
REL « 7 - G W=15c mffa%E
T%~—7 6.0X6 = 36.0
36. 0 36 m

57




AR E (WD)

4 R it H = g 7
EH W=15cm
AR 1576 X 2 = 3,152.0
3,152.0| 3,152 m
Y77 W=45cm
Y77 10 = 10.0
10.0 10 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X 14 = 84.0
84.0 84 m

58




AR E (WD)

4 giiN E H 2 e B
Ya o AR
EH W=15cm
AMAHR 573X 2 = 1,146.0
1,146.0| 1,146 m
fl# W=15¢c m
il 5.0X7+5.0X 12+5. 0 X6 = 125.0
125.0 125 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X2 = 12.0
JaA~w—7 8.0X2 = 16.0
28.0 28 m

59




AR E (WD)

4 giiN E H 2 e B
H AR
EH W=15cm
AMAHR 1184.5%2 = 2,369.0
o x— 19 = 19.0
2,388.0| 2,388 m
AR W=15¢cm
il 1.0X8+1.0X7 = 15.0
15.0 15 m
Y75 W=45c¢m
Y7I 51.2 = 51.2
51.2 51 m
RF e CF - 55 W=15c m¥E
T~ —7 6.0X6 = 36.0
7 aRA<w—7 8.0 8.0
44. 0 44 m

60




AR E (WD)

il

PR at B « %

CEE T |H ELE R

EH W=15cm
AMAHR 977X 2 = 1,954.0
1,954.0] 1,954 m

K« X - 5o W=15c m¥ats
T~ —7 6.0X3 = 18.0
18.0 18 m

61




AR E (WD)

4 giiN E H = g B
i A SIESPEREZR 5
EH W=15cm
AMAHR 148.5X2 = 297.0
o x— 9 = 9.0
306. 0 306 m

62



AR E (WD)

4 R it H = g 7
piibA|SIESPERR= 5
EH W=15cm
AMAHR 503X 2 = 1,006.0
v H— 10 = 10.0
¥7I7 = 23 = 23.0
1,039.0[ 1,039 m
# W=15¢c m
TR 1.0X3 = 3.0
3.0 3 m
Y77 W=45cm
Y77 0.7+1.2+1.4 = 3.3
7o — 0.3+1.0+1.6+2. 0 = 4.9
8.2 8 m
RHl  CF - 3B W=15c m#ati
TH~—7 6.0X2 = 12.0
12.0 12 m

63




AR E (WD)

4 R it H = g 7
K AR
EH W=15cm
AMAHR 475X 2 = 950.0
950. 0 950 m
Y77 W=45cm
Y77 1.0X 14 = 14.0
14.0 14 m
RKE] « 05 - 505 W=15c m¥#a
T~ —7 6.0X3 = 18.0
18.0 18 m

64




AR E (WD)

i
B
s
i

4 PR at

5 IH [EE AR

EH W=15cm
AMAHR 858. 5% 2 = 1,717.0
1,717.0] 1,717 m

K« X - 5o W=15c m¥ats
T~ —7 6.0X3 = 18.0
18.0 18 m

65




AR E (WD)

il

Zl %ﬁ: g‘l‘ % it: i&

H R

EH W=15cm
AMAHR 1721.5X2

3,443.0
3,443.0] 3,443 m

Sl 0 - 305 W=15c m#faE

T~ —7 6.0X4 = 24.0
JuaAT—7 8.0 = 8.0
32.0 32 m

66




PR R R R (PEED)

4 i E A = by &
[F VR R A
X R T
FEH W=15cm
AR 271X 2 = 542.0
542. 0 542 m
KE[ « 0 - 585 W=15c m# s
T5~—7 6.0 = 6.0
6.0 6 m

67




AR E (WD)

4 giiN E H 2 g B

%7 10 [EE AR
EH W=15cm
AMAHR 270X 2 = 540.0
77— 28 = 28.0

568. 0 568 m
Y75 W=45cm
77— 1. 8+3. 3+5. 0+3. 4+1. 6 = 15. 1

15. 1 15 m
REL « 7 - G W=15c mffa%E
T%~—7 6.0 = 6.0

6.0 6 m

68




